> The Fourier series of the step function
fx)=1,0 <x <Pj, f(x)=0, Pi < x < 2Pi

> s:=N-> 1/2+sum(2*5|n((2*k+1)*x)/((2*k+1)*P|) k=0..N-1);
= No +z2sm ((2k+1) x)

2 k=0 (2k+1)m
> s(3);
l+ 2 sin(x) +; sin(3 x) +g sin(5 x)
2 T 5 T 5 T

> plot([s(0),s(1),s(3),s(20),s(50)],x=0..2*Pi,color=[RED,GREEN,
MAGENTA,BROWN,BLUE],thickness=1,numpoints=500);
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> The Fourier series of the steady-state solution of
v' + 2v' + 10y = {(x),
with f(x) as above.

> b:=n->(10-n"2)/(n"4-16*n"2+100): a := n —> —-2*n/(n"4-16*
n"2+100):
> y:=N —->1/20+2*sum((a(2*k+1)*cos((2*k+1)*x)+b(2*k+1)*sin((2*
k+1)*x))/((2*k+1)*Pi),k=0..N-1);
y::N—>L P Nzl a(2k+1)cos((2k+1)x)+b(2k+1)sin((2k+1) x)
20 k=0 2k+1)n

> plot([y(1),y(2),y(20)],x=0..2*Pi,color=[RED,GREEN,BLUE],
numpoints=500);
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